SI.			T	<u> </u>		
No:	Item Description	Qty	Unit	Rate / Unit	Rate in Words	Amount
Last I	Date of Submission:26/05/2025				Time of Com	letion : 30Days
	1.24.3 Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.15/16 amp switch	6	E	155.93	One Hundred and Fifty Five Rupees, Ninety Three Paisa only	935.58
-	1.24.5 Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.6 pin 15/16 amp socket outlet	6	E	207.45	Two Hundred and Seven Rupees, Forty Five Paisa only	1244.70
3	1.24.1 Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.5/6 amps switch	19	E	101.69	One Hundred and One Rupees, Sixty Nine Paisa only	1932.11
4	1.24.4 Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.3 pin 5/6 amp socket outlet	16	E	131.52	One Hundred and Thirty One Rupees, Fifty Two Paisa only	2104.32
5	1.26 Supplying and fixing modular blanking plate on the existing modular plate & switch box excluding modular plate as required.	15	E	37.97	Thirty Seven Rupees, Ninety Seven Paisa only	569.55
6	90.10.1.3 Supply & Fixing the following types/ sizes of boxes suitable for modular accessories in surface/ recess including making good the damages, colour washing etc as required (RoHS compliant)3 module moulded plastic box on surface	7	E	251.18	Two Hundred and Fifty One Rupees, Eighteen Paisa only	1758.26

	Jour					-
7	90.10.1.5 Supply & Fixing the following types/ sizes of boxes suitable for modular accessories in surface/ recess including making good the damages, colour washing etc as required (RoHS compliant)6 module moulded plastic box on surface	8	E	283.96	Two Hundred and Eighty Three Rupees, Ninety Six Paisa only	2271.68
	1.28.2 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. As required.3 Module	7	E	151.86	One Hundred and Fifty One Rupees, Eighty Six Paisa only	1063.02
9	1.28.4 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. As required.6 Module	8	Е	197.96	One Hundred and Ninety Seven Rupees, Ninety Six Paisa only	1583.68
10	90.6.10.1 Supply and fixing of following sizes of light gauge PVC conduit along with accessories in	135	M	97.71	Ninety Seven Rupees, Seventy One Paisa only	13190.85
1.	90.6.10.2 Supply and fixing of following sizes of light gauge PVC conduit along with accessories in surface/ recess including cutting the wall and making good the same in case of recessed conduit as required 25 mm	18.000	М	108.07	One Hundred and Eight Rupees, Seven Paisa only	1945.26
-	2 Point Wiring			-		
	1.10.1 Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVCinsulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch, modular plate, suitable GI box and earthing the poir with 1.5 sq.mm. FRLSPVC insulated copper conductor single core cable etc as required. Group A	it 14.000	P	852.86	Eight Hundred and Fifty Two Rupees Eighty Six Paisa only	, 11940.04

2	Od195630/2024_2025 Supply and wiring points according to IS: 732-1989 using ISI marked rigid PVC conduit of minimum size 20 mm conforming to IS: 9537 Part-3 1983 and with suitable size specials conforming to IS: 3419-1988, fixing the conduit using metal saddles spacing not exceeding 50 cms or concealed suitably and with ISI marked 1.50 sq. mm PVC insulated stranded single core FRLS copper conductor cable of 650 / 1100 V grade, including providing switch board main and continuous earthing with ISI marked 1.50 sq. mm PVC insulated stranded single core FRLS copper conductor cable 650 / 1100 V grade, required quantity of copper earth socket, brass bolt and nut, crimping / soldering etc complete with suitable size modular type metal switch boxes, modular type front plates (white) etc up to and including 6A modular type SP switches and making good the surface of wall, colour washing etc complete. All the terminations in the switch boards and DB's shall be tinned and the wires shall be drawn and fixed along the periphery of the box using suitable ties, tie mounts etc as required. (RoHS compliant modular accessories) br>Combined plug point with 6A, 5-pin plug socket controlled by 6A switch in the same switch board as that of light points - Short point.	2.000	P	450.48	Four Hundred and Fifty Rupees, Forty Eight Paisa only	900.96
	3 Lights & Fans					

Journalism at Karlavattom Com-p								
Ĺ	Od195633/2024_2025 Supply of 20 W linear LED T8 tube (RoHS compliant) with extruded aluminium body, PC diffuser and inbuilt driver with double sided connection suitable for continuous operation on 230 V, 50 Hz AC supply and having THD <10%, power factor >0.98 etc as required. (Make-Crompton-LTT8-20, Philips or Havells)	5.000	E	497.03	Four Hundred and Ninety Seven Rupees, Three Paisa only	2485.15		
2	Od212205/2024_2025 Supply of industrial box type luminaire made of CRCA sheet with 0.50 mm br>thickness suitable for single T8 LED tube as required. (Make: CromptonIGP161LT8-16, Philips, Havells or Wipro)	5.000	E	396.75	Three Hundred and Ninety Six Rupees, Seventy Five Paisa only	1983.75		
3	90.4.1 Supply and installation of suitable size MS rod type fan clamp in the RCC slab as per IS 732 as required.	8.000	E	175.29	One Hundred and Seventy Five Rupees, Twenty Nine Paisa only	1402.32		
4	1.47 Supplying and fixing extra down rod of 10 cm length G.I. pipe, 15 mm dia, heavy gauge including painting etc. as required. (Note: More than 5 cm length shall be rounded to the nearest 10 cm and 5 cm or less shall be ignored)	72.000	E	39.32	Thirty Nine Rupees, Thirty Two Paisa only	2831.04		
5	1.41 Installation, testing and commissioning of pre- wired, fluorescent fitting/ compact fluorescent fitting of all types, complete with all accessories and tube etc. directly on ceiling/ wall, including connection with 1.5 sq.mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required	8.000	E	199.32	One Hundred and Ninety Nine Rupees Thirty Two Paisa only	1594.56		

6	1.44 Installation, testing and commissioning of ceiling fan, including wiring the down rods of standardlength (upto 30 cm) with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable etc.as required.	8.000	No	203.39	Two Hundred and Three Rupees, Thirty Nine Paisa only	1627.12
7	1.58 Supplying and fixing PVC batten/ angle holder including connection etc. as required	3	E	107.12	One Hundred and Seven Rupees, Twelve Paisa only	321.36
8	Od211852/2024_2025 Supply of BEE rated 12W LED bulb (B22 / E27) (Orient/Philips/Havels)	3	Е	115	One Hundred and Fifteen Rupees only	345.00
	4 wires					
1	1.17.3 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.3 X 1.5 sq.mm	50	M	63.73	Sixty Three Rupees, Seventy Three Paisa only	3186.50
2	1.17.6 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.6 x 1.5 sq. mm	20	M	119.32	One Hundred and Nineteen Rupees, Thirty Two Paisa only	2386.40
3	1.17.12 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.3 x 2.5 sq. mm	50	М	89.49	Eighty Nine Rupees, Forty Nine Paisa only	4474.50
4	1.17.15 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.6 x 2.5 sq. mm	40	М	169.49	One Hundred and Sixty Nine Rupees, Forty Nine Paisa only	6779.60

	300					
	1.17.21 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.3 x 4 sq. mm	35	М	138.3	One Hundred and Thirty Eight Rupees, Thirty Paisa only	4840.50
	5 DB				3	
1	2.10.1 Supplying and fixing 5 amps to 32 amps rating, 240/415 volts, "C" curve, miniature circuit breaker suitable for inductive load of following poles in the existing MCB DB complete with connections, testing and commissioning etc. as required. Single pole	12	E	237.28	Two Hundred and Thirty Seven Rupees, Twenty Eight Paisa only	2847.36
2	Od211933/2024_2025 Supplying and fixing 40 amps rating, 240/415 volts, "C" curve, miniature circuit breaker suitable for inductive load of following poles in the existing MCB DB complete with connections, testing and commissioning etc. as required. br>Single pole	1	E	421.47	Four Hundred and Twenty One Rupees, Forty Seven Paisa only	421.47
3	2.11 Supplying and fixing single pole blanking plate in the existing MCB DB complete etc. as required.	10	E	9.49	Nine Rupees, Forty Nine Paisa only	94.90
4	2.12.1 Supplying and fixing following rating, double pole, 240 volts, isolator in the existing MCB DB complete with connections, testing and commissioning etc. as required.40 amps	1	E.	402.7	Four Hundred and Two Rupees, Seventy Paisa only	402.70
	2.14.2 Supplying and fixing following rating, double pole, (single phase and neutral), 240 V, residual current circuit breaker (RCCB), having a sensitivity current 30 mA in the existing MCB DB complete with connections, testing and commissioning etc. as required.40 amps	1	E	2490.79	Two Thousand Four Hundred and Ninety Rupees, Seventy Nine Paisa only	2490.79

6	2.3.3 Supplying and fixing following way, single pole and neutral, sheet steel, MCB distribution board, 240 V, on surface/ recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, interconnections, powder painted including earthing etc. as required. (But without MCBIRCCB/Isolator12 way, Double door	1	Е	2440.62	Two Thousand Four Hundred and Forty Rupees, Sixty Two Paisa only	2440.62
		TOTA	L:	· · · · · · · · · · · · · · · · · · ·		84395.65
	GRAND 1	TOTAL a	fter roun	d off;		84396.00
	(Rupees Eighty Fou	r Thousa	nd Three	Hundred an	d Ninety Six Only)	

All rates are Exclusive of 18 % GST

I / We hereby agree to execute the work:-

- 1) at estimate rate.
- 2)% below the estimate rate.
- 3)% above the estimate rate.

Contractor

Assistant Executive Engineer II

Stage